Co g u te  the devivative of #6x"+lox 43

| (\ U§M5‘4 the ‘L[(;VV"\Q[ éﬂe{.'iﬂf’f/\ﬁm in w[u‘cé ,{I);’i7g

Tl\e 4[;:rm«m/ de(mf‘f‘/om LS

[im #(kmx) = {/x)

P
rm—

AXx—>0 AK

Lis E ol i i (xtox) 43 1~ [ éx1+/0/<+37_

AX—70

A\ X
7N

5 \x’up xAx*(‘.»x)";) £ /0 (X+0x) #3 = bX—j0x =3 ?:

l Lim { £
2

AN
s : LA\

Collect 7L(’rw)"l,—/£em o W here 0’;0'1;’//\[44/6.

Lim G BNEH 12X 4+ (4x) + NG +10.0% 4\\-&;‘—%&(—\%&
A X

dx—70 X



0)'1//"5/& b-}, AX_

DX =20

/I‘M { L9 S oL

e [ {m
174/4AVA DX—?0
77 /

/in\'

| ‘ < /Z)('/L‘éx -7'”/'07
| Ax=20 C N

7

il g s dhe Linal Fesuls

—

S

dx

e
V),\:_@ff_(x) L L B W L) ]]
o




(Omgm?‘e the derivative of +(x)= = bx 410X +7

US/}'I@ 7"%6 SADP‘/’cwf

/=1

£lx)z = ”ﬂ” =) bx" " 4+ (D/ox

R, o
—=—— W ‘\\-\

7 f/x)'qﬁx]’/?.)(ﬁo \

{ [
T
|
I

C’Om/w%e 7[/{)() at X==-0,3

—

flaga)e 12 L03) 410 =164 )
iy




